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29-5 days to go
from a new moon

to a full moon and then

back again. Round this figure
to the nearest whole number.
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Give a reason
for your answer!

number represented
by the shape below?

+ 4907

Max has 4 cousins. At a
family barbecue they all
high five each other once.

How many high fives %

next two numbers
this sequence.

2,9,16, 23,
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Aunties and Uncles

day. Auntie Marie and
Uncle Jamie are parents
to most of Max's cousins.

E@_ How many children

do they have?
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2 8 Milk Chocolate day.
A bar of chocolate has 3
squares in a row and

seven rows in total. How

many squares are Ei

there altogether?

Today is National
Lasagne day.
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Sara's Lasagne is famous! She
does a layer of pasta, a layer
of meat and a layer of sauce
and repeats this process

four times. How many layers
in total are in Sara’s Lasaghe?

is this altogether?
Today is National

3 O Cheese Cake day.
A cheese cake is halved,
then halved again and
halved again. How many

slices has the cheese
cake been cut into? @

Is this

3 1 statement
true or

1 1 false?
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